INTRODUCTION TO NOUGHTS AND CROSSES

The object of Noughts and Crosses is to get a
winning line of three Noughts or three Crosses in
either a horizontal, vertical or diagonal row.
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PARAMETERS PASSING

#include<iostream>
using namespace std;
int test(int a[], int b)
{
return a[@]+a[1l]+a[2]+b;
}
void main()
{
int array[3]={0,0,0};
int b=3;
int catch=test(array,b);
cout<<catch;
system(“PAUSE”);

Test function

qer] A19A00SI(] UOIJBULIOJU] PUB 93pa[mouy]



FLOW CHART

( Start >
User
choose
orid

qerT AI9A0JST(] UOTIRULIOJU] PUB 93Pa[MOoUy]

End




{

LINE CHECKING
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LINE CHECKING

grid[6]=1 grid[7]=2 grid[8]=1

“lint check winiint grld[ 10/ winl return Dlar O winf returmn 00 or not et return 20

{

for{int 1=0;1<3;14+)

{
1f{gr1d[1]==gr1d[1+3] &% grid[1]==gr1d[1+6] && zr1d[1]!=2)
return grid[1];
1 grld[1%3)==gr1d[1%*3+]1] &% gr1d[1*3)==gr1d[1*3+2] && grid[1]1=2)
return grid[1%3];
i

1 gr1d[0]==gr1d[4]&& 2r1d[0]==gr1d[3] && zrid[0]!=2)
return grid[0];

1 {gr1d[2]==gr1d[4]&& zr1d[f]==zr1d[4d] &k zr1d[2]!=2)
return grid[2];

return 2;



LINE CHECKING

“lint check winiint grld[ 10/ winl return Dlar O winf returmn 00 or not et return 20

{

for{int 1=0;1<3;14+)

{
1f{gr1d[1]==gr1d[1+3] &% grid[1]==gr1d[1+6] && zr1d[1]!=2)
return grid[1];
1 grld[1%3)==gr1d[1%*3+]1] &% gr1d[1*3)==gr1d[1*3+2] && grid[1]1=2)
return grid[1%3];
i

1 gr1d[0]==gr1d[4]&& 2r1d[0]==gr1d[3] && zrid[0]!=2)
return grid[0];

1 {gr1d[2]==gr1d[4]&& zr1d[f]==zr1d[4d] &k zr1d[2]!=2)
return grid[2];

return 2;



LINE CHECKING

“lint check winiint grld[ 10/ winl return Dlar O winf returmn 00 or not et return 20

{

for{int 1=0;1<3;14+)

{
1f{gr1d[1]==gr1d[1+3] &% grid[1]==gr1d[1+6] && zr1d[1]!=2)
return grid[1];
1 grld[1%3)==gr1d[1%*3+]1] &% gr1d[1*3)==gr1d[1*3+2] && grid[1]1=2)
return grid[1%3];
i

1 gr1d[0]==gr1d[4]&& 2r1d[0]==gr1d[3] && zrid[0]!=2)
return grid[0];

1 {gr1d[2]==gr1d[4]&& zr1d[f]==zr1d[4d] &k zr1d[2]!=2)
return grid[2];

return 2;



LINE CHECKING

1=1

“lint check winiint grld[ 10/ winl return Dlar O winf returmn 00 or not et return 20

{

for{int 1=0;1<3;14+)

{
1f{gr1d[1]==gr1d[1+3] &% grid[1]==gr1d[1+6] && zr1d[1]!=2)
return grid[1];
1 grld[1%3)==gr1d[1%*3+]1] &% gr1d[1*3)==gr1d[1*3+2] && grid[1]1=2)
return grid[1%3];
i

1 gr1d[0]==gr1d[4]&& 2r1d[0]==gr1d[3] && zrid[0]!=2)
return grid[0];

1 {gr1d[2]==gr1d[4]&& zr1d[f]==zr1d[4d] &k zr1d[2]!=2)
return grid[2];

return 2;



LINE CHECKING

1=2

“lint check winiint grld[ 10/ winl return Dlar O winf returmn 00 or not et return 20

{

for{int 1=0;1<3;14+)

{
1f{gr1d[1]==gr1d[1+3] &% grid[1]==gr1d[1+6] && zr1d[1]!=2)
return grid[1];
1 grld[1%3)==gr1d[1%*3+]1] &% gr1d[1*3)==gr1d[1*3+2] && grid[1]1=2)
return grid[1%3];
i

1 gr1d[0]==gr1d[4]&& 2r1d[0]==gr1d[3] && zrid[0]!=2)
return grid[0];

1 {gr1d[2]==gr1d[4]&& zr1d[f]==zr1d[4d] &k zr1d[2]!=2)
return grid[2];

return 2;



LINE CHECKING

“lint check winiint grld[ 10/ winl return Dlar O winf returmn 00 or not et return 20

{

for{int 1=0;1<3;14+)

{
1f{gr1d[1]==gr1d[1+3] &% grid[1]==gr1d[1+6] && zr1d[1]!=2)
return grid[1];
1 grld[1%3)==gr1d[1%*3+]1] &% gr1d[1*3)==gr1d[1*3+2] && grid[1]1=2)
return grid[1%3];
i

1 gr1d[0]==gr1d[4]&& 2r1d[0]==gr1d[3] && zrid[0]!=2)
return grid[0];

1 {gr1d[2]==gr1d[4]&& zr1d[f]==zr1d[4d] &k zr1d[2]!=2)
return grid[2];

return 2;




LINE CHECKING

“lint check winiint grld[ 10/ winl return Dlar O winf returmn 00 or not et return 20

{

for{int 1=0;1<3;14+)

{
1f{gr1d[1]==gr1d[1+3] &% grid[1]==gr1d[1+6] && zr1d[1]!=2)
return grid[1];
1 grld[1%3)==gr1d[1%*3+]1] &% gr1d[1*3)==gr1d[1*3+2] && grid[1]1=2)
return grid[1%3];
i

1 gr1d[0]==gr1d[4]&& 2r1d[0]==gr1d[3] && zrid[0]!=2)
return grid[0];

1 {gr1d[2]==gr1d[4]&& zr1d[f]==zr1d[4d] &k zr1d[2]!=2)
return grid[2];

return 2;
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